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QID:1-
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

e uw & Ry or Roeat & @ un R
(?) & TUE W G areh FEA B gET|

N B W

1
6
5

| N| ©f 0

30

Options:

1) 36

2)72

3) 144

4) 288

Correct Answer: 144

QID:2-

How many triangles are there in the given figure?

& o T 3 fee e ¥

Options:

1)4

2)6

3)7

4)8

Correct Answer: 8

QID: 3-

the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-1 are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘A’ can
be represented by 24, 95, efc., and ‘M’ can be represented by 11, 66, etc.
Similarly, you have to identify the set for the word “CALF”.

TUF qeq had Th TEAT-HHE aRT gt srRm ¥, Sar v Rwedt # @
ot T & eam = &1 fweut # Rr sv dwr-meg dERt & ar asit
gRT guifT v ¥ SR @5 Ru are o smegg & {1 e & waEw iR
Ofeh & TET 0 | 4 ¢ IR I[N B 5 F 91 37 PR F TH IR
B Ugl U Ufh IR GG A TAEH TET gRT GRMAT S AhaT B
3EIRR0T & fow ‘A’ 24, 95, T gRT GRFAT ST Wehar ¥ AT M’ BN 11,
66, e gRT ifar S whar ¥ W e | U um A Ru deg
“CALF” & fov @og o ugdiaar 81

Matrix-I Matrix-ll

g1 gl
0[1]2|3]4 5|16|7|8[9
O|A|CIE|G]| I S|I|K|[D|F|[X
1|K|M[O[Q]S 6 [[GIM|B|H|V
2|U|W|Y|[B|A 7|E|O]|Y[Jd]T
3|FI[H|[J|L|N 8|C|F|W|L|R
4|P|R|T|V]X 9|A|S|U|N|P

Options:

1) 85, 01, 33, 31
2) 02, 00, 88, 30
3) 01, 95, 88, 58
4) 85, 00, 89, 87
Correct Answer: 01, 95, 88, 58

QID: 4-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7 IR wpfad F ¥ 3@ IR I A gAw
orm & uy ampfa Bfea &

<

Options:

1)

2)

3)

4)
Correct Answer:



http://www.a-pdf.com/?ms-demo

QID:5-
Which answer figure will complete the pattern in the @}

question figure?

4)
Fid @ 3 HFHA TN Wgla & ufdwT @& g Correct Answer:
e Xéz
N1V
A7 XﬁX
Options:
f QID:7-
A piece of paper is folded and punched as shown
1) below in the question figures. From the given
answer figures, indicate how it will appear when
f 5 opened?
2) @ & oy ngplaal # R@m gER Foe @
|> HAshT S JAT Welad & ag Ig fF 39w el
s femars o
3)
4) A A
Correct Answer:
Options:
- 1)
2)
QID: 6 -
If a mirror is placed on the line AB, then which of the @
answer figures is the right image of the given
fi ? 3)
igure?
Ify mF iU Y AB ¥@T W I@r S, ar & g
X R # ¥ Bl @ Y uw sl A 4)

& ufafesa et Correct Answer:

X

©©

Options:
QID:8-If'+'means'—,'—'means'x,'x means'
+'and' +'means' +', then
1) 12x6+4=7?
e+ T w T X, KR T T
XﬁZ CrE A,
2) 12x6+4="7?
Options:
2 2 1)4
2)8
3) 3)6
4)2

Correct Answer: 6



QID:9-1f48 + 18 = 30 and 27 + 15 = 12, then 55
+20="?

g 48 + 18 =30 FUT 27 + 15 =128, Ar55 + 20 =
?

Options:

1)77

2) 35

3) 27

4) 50

Correct Answer: 35

QID : 10 - Arrange the given words in the sequence in
which they occur in the dictionary.

1. Nasty

2. Niggle

3. Nine

4. Normal

5. Normandy

fAFITI T ersel 1 eAeehier & 3T dlel A F AR
ford|

1. Nasty

2. Niggle

3. Nine

4. Normal

5. Normandy

Options:

1) 13254

2) 13245

3) 12345

4) 12354

Correct Answer: 12345

QID : 11 - In the following question,select the missing
number from the given alternatives.
36,41,47,?,62,71

fAFafaf@d gea & QU v fAevedt & & ocd 3 A
ST

36,41,47,?,62,71
Options:

1)52

2) 54

3)53

4) 55

Correct Answer: 54

QID : 12 - A series is given with one term missing.
Select the correct alternative from the given ones that
will complete the series.

EGF, HJI, KML, ?

T 3efehA T o &, Tord @ v ug ofed g1 T
a0 fAredt # F g8 T Ahed AT, ST IThA HY
Q@ A

EGF, HJI, KML, ?

Options:

1) OPN

2) ONP

3) NOP

4) NPO

Correct Answer: NPO

QID : 13 - In the following question, select the odd
word from the given alternatives.

AR wead & U 71w fFwedl & & fQwe oo &t
gfav|

Options:

1) Book

qEdh

S

2) Pen
helH

3) Pencil
T

4) Marker
AR

Correct Answer: Book
&deh

S

qE&dsh

S

QID : 14 - In the following question, select the odd
number pair from the given alternatives.

Arafaf@a g & U av Aseul & & Qv g&ar
g7A Fr ﬂﬁl‘(f_, |

Options:

1) 49 : 13

2)58: 15

3)69: 15

4)74: 11

Correct Answer: 58 : 15

QID : 15 - In the following question, select the odd
letters from the given alternatives.

Aefaf@d ueT & RU 9w [Aereul & & fQAwse 38R
I gfav|

Options:

1) uw

2) OQ

3) IK

4) AD

Correct Answer: AD

QID : 16 - Identify the diagram that best represents the
relationship among the given classes.
Male, Female, Humans

a5 3@ AT A AY R A T F g F w7
FE fAEI0T AT B

oy, AT, AT
Options:

OO

1)

2)

1O

3)




@

Correct Answer:

QID : 17 - In the following question, select the related
word pair from the given alternatives.

Pen : Write : : Knife : ?

frafaf@a uea & U a1v foweur 7 ¥ gefea s
I7H & G|

o : fager ;A ?

Options:

1) Join

Srgar

2) Erase

e

3) Cut

hIcCAT

4) Wood

TR

Correct Answer: Cut

hIcCAT

hICAT

QID : 18 - In the following question, select the related
number from the given alternatives.

43:12::39:?

fFafafad o & U 71w fawedt & & @afta w&ar
@ giav|

43:12::39:?

Options:

1) 62

2) 27

3) 14

4) 10

Correct Answer: 27

QID : 19 - In the following question, select the related
letters from the given alternatives.

AD:EI::KX:?

farafaf@d g & Gu 71w fawedt & & dafta Rt
& AT

AD:EI::KX:?

Options:

1) OC

2) ND

3) PC

4)PD

Correct Answer: OC

QID : 20 - In the following question, select the word
which cannot be formed using the letters of the given
word.

PROJECTIONS

fAeAfaf@d faeedl & & dg e YA S T 1w
ersg & 3T&RT FT TART b Aal SeIrAT ST HehdT|

PROJECTIONS

Options:

1) POISON

2) INJECTION

3) PROJECT

4) SECTION

Correct Answer: INJECTION

QID : 21 - The ratio of present ages of Raj and Aman is
4 : 3. After 5 years age of Aman will be 23 years. What is
the present age (in years) of Raj?

ST AT AT T TAAT A HT 30T 4: 381 5a¥
TRET, HA & AT 23 a¥ g1 SMEI| It &l TAATT
Mg (ast &) F2r 82

Options:

1) 26

2) 28

3)24

4) 20

Correct Answer: 24

QID : 22 - Kamal is 13" from left end of a row and
14™ from right end of the row. How many total people
are there in the row?

FAT Th Ufdd & S 8RR F 13-al dW e R &
14-a7 g1 dfed 7 el fovcter ot €2

Options:

1) 26

2) 27

3)25

4) 28

Correct Answer: 26

QID : 23 - In the following question below are given
some statements followed by some conclusions. Taking
the given statements to be true even if they seem to be
at variance from commonly known facts, read all the
conclusions and then decide which of the given
conclusion logically follows the given statements.
Statements:

I. All chairs are tables.

I1. Some chairs are pencils.

Conclusions:

I. All tables are chairs.

I1. Some pencils are chairs.

A foT 91T yeof F FT FUA IR Ak d1G 3T HYA!
W INURA F& sy fev 1T §, grefifeh 30 =g
AT a2 & Rewtar g Tt g1 Tel fswy g¢ 3k
R AuiRa & & Ru av #ia & sy, ju v
FYAT H YR W FiFTHTT g

hYeT:

L @ef FfEar A7 ¢



IL. o AT 9ffe g
s

I @t At Hf&r g

I o 4T HiET ¢
Options:

1) Only conclusion (I) follows.
Faer fashy (1) @Er B

2) Only conclusion (II) follows.

Fad s (I1) T8 &

3) Both conclusion follow.

alt & forsny @ g

4) Neither conclusion (I) nor conclusion (II) follows.
o o sy (I) 7 & sy (1) |8 2

Correct Answer: Only conclusion (II) follows.

Faa forses (I1) T8 2
Fad s (I1) T8 &

QID : 24 - In a certain code language, "VERBAL" is
written as "ZIVFEP". How is "REASONING" written in
that code language?

& fafase s #T9T A, "VERBAL" &1 "ZIVFEP" forar

ST § | 39 HIS 9T & "REASONING" FI fFT UaR
for@r Srean?

Options:

1) VIEWSRMRK

2) VIKXSRMRK

3) VIEWSTMRK

4) VIEWSRNSM
Correct Answer: VIEWSRMRK

QID : 25 - In a certain code language, "PARK" is
written as "TEVO". How is "TALK" written in that code
language?

s fafese g #wr &, "PARK" &r "TEVO" for@r Sirdr

g | 39 Fs 9o H "TALK" & 59 v for@r seem?
Options:

1) XEPO

2) XEPP

3) XEOP

4) XDPO

Correct Answer: XEPO

QID : 26 - What is the value of 13 + 23 + 3° + ......... +
10°?

B+ 433+ + 10° &1 AT FT &2

Options:

1) 5500

2) 3025

3) 6025

4) 2975

Correct Answer: 3025

QID : 27 - What is the value of 34 + 17 x 2 + 4?
34 + 17 X 2 + 4 T AT FT §?

Options:

1)8

2) 16

3)5
4)6
Correct Answer: 8

QID : 28 - What is the LCM of 18/5 and 20/9?
18/5 AT 20/9 T oTgcctH FHTIAH T §?
Options:

1) 60

2) 12

3) 30

4) 180

Correct Answer: 180

QID : 29 - If 34P7 is divisible by 11, then what is the
value of P?

Ifg 34P7, 11 & qanfaa §, ar P &1 AT a7 g2
Options:

1)2

2)4

3)6

4)8

Correct Answer: 8

QID : 30 - What is the value of (37 + 23)? + (37 - 23)*?
(37 + 23)% + (37 - 23)* & AT FAT &7?

Options:

1) 1898

2) 3796

3) 2838

4) 2427

Correct Answer: 3796

QID : 31 - Which fraction among 3/7, 4/11 and 5/8 is
the smallest?

3/7, 4/11 dAT 5/8 H HiA AT AT BIeT 8?2
Options:

1) 3/7

2) 4/11

3)5/8

4) All are equal

Tt X g

Correct Answer: 4/11

QID : 32 - Three taps P, Q and R together can
completely fill a tank in 40 minutes. Q and R together
can fill the same tank in 80 minutes. In how much time
(in minutes) P alone can fill the tank?

P, QYT R fAeaR e ol &l 40 fAste & QU e N
Hhd &1 Q YT R fAeHT 38 < 1 80 fAac 7 W

Thd &1 P 3iohell el @ag (e &) & T&fr a1 R
TohdT &7

Options:

1) 40

2) 60

3) 80

4) 120

Correct Answer: 80

QID : 33 - Two taps X and Y together can fill a tank in
36 hours, Y and Z in 48 hours and X and Z in 72 hours. If



all the three taps are opened, then in how much time (in
hours) the tank will be completely filled?

G STl X TAT Y, T &l il 36 8¢ H X Thd &, Y 2T
Z,48 G & qur X dur Z, 72 €6¢ H X Tha g1 IS
et T gel 8, o vl @ag # (et #) Shr g
TRE X STa?

Options:

1) 16

2) 32

3)22

4) 36

Correct Answer: 32

QID : 34 - The side of an equilateral triangle is equal to
the diagonal of the square. If the side of the square is 12
cm, then what is the area of the equilateral triangle?

Teh HASTE Ao 1 oo ot & faeol & auew R Al
ot Y ofer 12 A §, A FASE PRI FT & A

8?

Options:

1) 50?2

2) 50V3

3) 72V3

4) 100V3

Correct Answer: 72V/3

QID : 35 - After giving a discount of 35%, there is a loss
of 7.14%. If only 20% discount is given, then what will
be the profit percentage?

35% &I BT &7 F 1G, 7.14% Fr gifer gl €1 Ay
shael 20% TE & ST, AT oTsT o1 FicRrd & gram?
Options:

1) 11.11

2) 12.5

3) 14.28

4) 16.66
Correct Answer: 14.28

QID : 36 - Marked price of an article is Rs 5000. It is
purchased at a discount of 20%. If Rs 200 are spent on
its repairs, then to gain 15% profit, what should be the
selling price (in Rs)?

Teh g&q 1 ifehc Hed 5000 & g1 3EHT 20% FI T

W @er ST &1 e 200 § 3TFH AFAT W ST
ST, & 15% &l o1 AT & T fasa qoa (3 #)

FT glaT AIgT?
Options:

1) 4830

2) 4600

3) 5570

4) 5200

Correct Answer: 4830

QID : 37 - 120 is divided into two parts in such a way
that the seventh part of first and the fifth part of second
are in the ratio 5 : 17 what will be the value of second
part?

120 & & #1739 yhR Qsnfaa fhar ar fr ggo
&I Hiqar BEar aur ge &1 digar e 5: 17 %
AT & 81 AR T 1 AT T gHI?

Options:

1) 85

2) 68

3) 51

4) 35

Correct Answer: 85

QID : 38 - Two numbers are in theratioof 5: 7. If 15 is
subtracted from both the numbers then ratio becomes 2
: 3. What will be the sum of two numbers?

ar HET3t T 3T 5: 7 81 IfE gl st A @
15 ©eT = Sy, &t 37eureT 2 @ 3 81 el g1 &kt
HEATHT 1 AT FAT From?

Options:

1) 120

2) 150

3) 180

4) 140

Correct Answer: 180

QID : 39 - Average of 15 consecutive numbers is 18. If
each number is divided by 2, then what will be the new
average?

15 AR FEIAT #1 3iad 18 g1 Ife asfy d&ar &r

2 ¥ feanfaa frar sre, o s 3 & gem?
Options:

1) 15

2)9

3)12

4) 18

Correct Answer: 9

QID : 40 - An article is purchased for Rs 7500 and sold
for Rs 9375. What is the profit%?

TS aEg F 7500 F F @G AT § aAqT 9375F H
ST AT g1 dT8% FIT §7?

Options:

1) 20

2) 18

3)25

4) 27

Correct Answer: 25

QID : 41 - An article is sold for Rs 8400 at a loss of
25%, what is the cost price (in Rs) of the article?

TS qE] H 25% H g W 8400 & F I A ¢
IEG F FI 7o (¥ F) F4T 82

Options:

1) 14400

2) 12400

3) 11200

4) 10800
Correct Answer: 11200

QID: 42-



(20% of 120)+(25% of 48)

?
4% of 25

What is the value of

(20% of 120)+(25% of 48)
4% of 25

Options:

1) 12

2) 48

3) 36

4) 24

Correct Answer: 36

& AT FAT &2

QID:43-

0% of 360)+(11% of 200)

. 3
What is the value of ¢
at I1s the value O % of 400

?

(30% of 360)+(11% of 200)
2% of 400

Options:

1) 16.5

2) 15.25

3) 14.75

4) 16.25

Correct Answer: 16.25

P AT FAT &2

QID : 44 - A train is moving at a speed of 72 km/h and
covers a certain distance in 6 hours. If the same distance
is to be covered in 8 hours, then what will be the speed
(in km/h) of the train?

Wimﬂﬁwzfa?.xﬁ.lsiaaﬁr?r%@aﬂﬁgww
fAfRaa gt 1 6 oel & a7 & g1 Ife adr g 8 ue
H T FE g, ar YeEmer & afa (k.aY/aer #)

gram?

Options:

1) 45

2) 54

3) 63

4) 64

Correct Answer: 54

QID : 45 - Speed of a boat is 4 km per hour in still
water and the speed of the stream is 2 km per hour. If
the boat takes 8 hours to go to a place and come back,
then what is the distance of the place?

A ST H A1d &7 afa 4 fF.d/aer § Tur arT &
atir 2 fom.#lr/eer &1 Ife g 8 € A fohelt gt s

ST aT9d 3T St &, ar g0 (e, #) g2
Options:

1)12

2)9

3) 15

4) 18

Correct Answer: 12

QID : 46 - An amount invested at simple interest gives
Rs 800 interest at 16% in 2 years. What is the principal
(in Rs)?

TS AMA T 16% AT X & 2 a¥ & T FTYROT sT1T
W A3 F § 800 T AT UIed &Il gl A (%
) Far §?

Options:

1) 4000

2) 3500

3) 5000

4) 2500
Correct Answer: 2500

QID: 47 -
The bar chart given below shows the runs scored by a
batsman in 10 different innings.

= Rm or gus R # oo aeders T 10 e
TRt 3 gaTT o Tt @ g ¥

100 ~

104198

78
80 72
65

60 4 57

Runs /IeT

40 ~
20 - 13

1 2 3 4 6 6 7 8 9 10
Inning / 9

In how many innings has the batsman scored more than
the average runs?

fordelr IR & Teodrel o 39d @& ¥ 30F &
1T g7

Options:

1)5

2)7

3)6

4)8

Correct Answer: 5

QID: 48 -
The bar chart given below shows the runs scored by a
batsman in 10 different innings.

= ffm ow gus R # oo aeders T 10 e
ot 3 gaT o Tt @ g ¥

120 1108 113 109
100 1

104198

80
60 -

Runs /IeT

40 -
20 4

1 2 3 4 & 6 78 9 10
Inning / 9t




Runs scored in inning 1 is what percent of runs scored in
inning 5?

IR 1 & F0 97T I, IRY 5 H FeA10 0 AT Fr fohdalr
gfaerd 872

Options:

1) 131.29%

2) 138.46%

3) 126.17%

4) 142.93%
Correct Answer: 138.46%

QID: 49 -
The bar chart given below shows the runs scored by a
batsman in 10 different innings.

d=r Rm 9w gus R # 1 geclars T 10 e
ot 3 g o T @ g ¥

120 1 13 409
108 104 106

1 2

3 4 5 6
Inning / 9t

7 8 9 10

What are the average runs per innings?
gfa 9’ 3iaas 3 fohaer 82
Options:

1) 78.5

2) 82.5

3) 80.6

4) 85

Correct Answer: 82.5

QID: 50 -
The bar chart given below shows the runs scored by a
batsman in 10 different innings.

& fm o7 Ius R # T Jeclars T 10 e
arfeat & g o @ @ g B

120 1 113
108 109 104 108

1 2

3 4 5 6 7 8 9 10
Inning / 9

The runs of first 5 innings are added and the value is
called S1. The runs of last 5 innings are added and the
value is called S2. What is the value of S2-51?

ggoll 5 9T & AT &Y ST SATar § I 39 &AT Hi
S1 &gl ST gl 3@ 5 9Tkl & ATl ST ST §
JAT 3T G&IAT T S2 Fgl Sar g1 S2-S1 &7 HAT AT §7?
Options:

1) 67

2) 68

3) 73

4) 71

Correct Answer: 71

QID : 51 - In the following question, some part of the
sentence may have errors. Find out which part of the
sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

You hereby are requested (1)/ to ensure that any such
link is (2)/ immediately removed from your

Platforms. (3)/ No Error (4)

Options:

1)1

2)2

3)3

4) 4

Correct Answer: 1

QID : 52 - In the following question, some part of the
sentence may have errors. Find out which part of the
sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.
Power corrupts; (1)/ absolute power (2)/ corrupts
absolutely. (3)/ No Error (4)

Options:

1)1

2)2

3)3

4)4

Correct Answer: 4

QID : 53 - In the following question, the sentence given
with blank to be filled in with an appropriate word. Select
the correct alternative out of the four and indicate it by
selecting the appropriate option.
Kalpana is endowed
Options:

1) from

2) to

3) with

4)in

Correct Answer: with

many great qualities.

QID : 54 - In the following question, the sentence given
with blank to be filled in with an appropriate word. Select
the correct alternative out of the four and indicate it by
selecting the appropriate option.

Kashish is a very unhappy person, she

about almost everything.

Options:

1) grumbles

2) likes

3) enjoys



4) loves
Correct Answer: grumbles

QID : 55 - In the following question, out of the given
four alternatives, select the one which best expresses the
meaning of the given word.

Eventual

Options:

1) Intermediate

2) Preliminary

3) Ultimate

4) Prior

Correct Answer: Ultimate

QID : 56 - In the following question, out of the given
four alternatives, select the one which best expresses the
meaning of the given word.

Forbid

Options:

1) Ban

2) Grant

3) Permit

4) Allow

Correct Answer: Ban

QID : 57 - In the following question, out of the given
four alternatives, select the one which best expresses the
meaning of the given word.

Fragile

Options:

1) Tough

2) Sturdy

3) Brittle

4) Hary

Correct Answer: Brittle

QID : 58 - In the following question, out of the given
four alternatives, select the one which is opposite in
meaning of the given word.

Tranquil

Options:

1) Violent

2) Quiet

3) Calm

4) Easy

Correct Answer: Violent

QID : 59 - In the following question, out of the given
four alternatives, select the one which is opposite in
meaning of the given word.

Shrewd

Options:

1) Clever

2) Naive

3) Brainy

4) Artful

Correct Answer: Naive

QID : 60 - In the following question, out of the given
four alternatives, select the one which is opposite in
meaning of the given word.

Suspicious

Options:

1) Doubtful

2) Jealous

3) Wondering

4) Trustworthy

Correct Answer: Trustworthy

QID : 61 - In the following question, out of the given
four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

At the eleventh hour.

Options:

1) The initial moment

2) At the last possible moment

3) At its usual time

4) At the earliest possible time

Correct Answer: At the last possible moment

QID : 62 - In the following question, out of the given
four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

A red letter day.

Options:

1) A day when one feels lazy

2) A day that is pleasantly noteworthy or memorable
3) A sorrowful day

4) Most dangerous day of one’s life

Correct Answer: A day that is pleasantly noteworthy or
memorable

QID : 63 - In the following question, out of the four
alternatives, select the alternative which will improve the
bracketed part of the sentence. In case no improvement
is needed, select "no improvement".

I spoke to (my all) friends and finalised the plan.
Options:

1) my every

2) every my

3) all my

4) No improvement

Correct Answer: all my

QID : 64 - In the following question, out of the four
alternatives, select the alternative which will improve the
bracketed part of the sentence. In case no improvement
is needed, select "no improvement".

The higher the demand, (the more) the prices.
Options:

1) great

2) the greater

3) high

4) No improvement

Correct Answer: the greater

QID : 65 - In the following question, out of the four
alternatives, select the alternative which is the best
substitute of the phrase.

The killing of human beings.

Options:

1) Homicide

2) Patricide

3) Suicide

4) Infanticide

Correct Answer: Homicide



QID : 66 - In the following question, out of the four
alternatives, select the alternative which is the best
substitute of the phrase.

Something which is out of use.

Options:

1) Catastrophe

2) Obsolete

3) Common

4) Disaster

Correct Answer: Obsolete

QID : 67 - In the following question, a word has been
written in four different ways out of which only one is
correctly spelt. Select the correctly spelt word.
Options:

1) Heihgt

2) Hite

3) Height

4) Hieght

Correct Answer: Height

QID : 68 - In the following question, a word has been
written in four different ways out of which only one is
correctly spelt. Select the correctly spelt word.
Options:

1) Guidence

2) Giuance

3) Giudence

4) Guidance

Correct Answer: Guidance

QID : 69 - The question below consists of a set of
labelled sentences. Out of the four options given, select
the most logical order of the sentences to form a
coherent paragraph.

Management is a set of

P: technology running smoothly

Q: system of people and

R: processes that can keep a complicated
Options:

1) RQP

2) QPR

3) PQR

4) RPQ

Correct Answer: RQP

QID : 70 - The question below consists of a set of
labelled sentences. Out of the four options given, select
the most logical order of the sentences to form a
coherent paragraph.

India is a country

P: which respects spiritualism

Q: much more

R: than materialism

Options:

1) PRQ

2) QPR

3) PQR

4) QPR

Correct Answer: PQR

QID : 71 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.
The benefits of Internet are for lay people.
The most significant advantage Internet can purvey is
that it becomes a library that, perhaps. The most

, the cheapest, and the quickest people can
afford. For example, people can use the Internet for any
kind of information and knowledge they need such as
gender relations in an country like Iran
without going there physically. Another instance is that a
student living in Amazon jungle can learn how to make
American cupcake at a push of a button on YouTube,
which would save him of dollars without a
need to visit the USA, with it costing US$ 1 for internet
useat_ = cafe.
of Internet are
Options:
1) unstoppable
2) Unachievable
3) uncomprehendable
4) unthinkable
Correct Answer: unthinkable

for lay

QID : 72 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.
The benefits of Internet are for lay people.
The most significant advantage Internet can purvey is
that it becomes a library that, perhaps. The most

, the cheapest, and the quickest people can
afford. For example, people can use the Internet for any
kind of information and knowledge they need such as
gender relations in an country like Iran
without going there physically. Another instance is that a
student living in Amazon jungle can learn how to make
American cupcake at a push of a button on YouTube,
which would save him of dollars without a
need to visit the USA, with it costing US$ 1 for internet
use at cafe.
The most , the cheapest,
Options:
1) unthinkable
2) extensive
3) limited
4) restricted
Correct Answer: extensive

QID : 73 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.
The benefits of Internet are for lay people.
The most significant advantage Internet can purvey is
that it becomes a library that, perhaps. The most

, the cheapest, and the quickest people can
afford. For example, people can use the Internet for any
kind of information and knowledge they need such as
gender relationsinan__ country like Iran
without going there physically. Another instance is that a
student living in Amazon jungle can learn how to make



American cupcake at a push of a button on YouTube,
which would save him of dollars without a
need to visit the USA, with it costing US$ 1 for internet
use at cafe.
country like Iran without going
Options:
1) secluded
2) loving
3) sacred
4) amazing
Correct Answer: secluded

QID : 74 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.
The benefits of Internet are for lay people.
The most significant advantage Internet can purvey is
that it becomes a library that, perhaps. The most

, the cheapest, and the quickest people can
afford. For example, people can use the Internet for any
kind of information and knowledge they need such as
gender relations in an country like Iran
without going there physically. Another instance is that a
student living in Amazon jungle can learn how to make
American cupcake at a push of a button on YouTube,
which would save him of dollars without a
need to visit the USA, with it costing US$ 1 for internet
use at cafe.
YouTube, which would save him
Options:
1) few
2) hundreds
3) less
4) more
Correct Answer: hundreds

QID : 75 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.
The benefits of Internet are for lay people.
The most significant advantage Internet can purvey is
that it becomes a library that, perhaps. The most

, the cheapest, and the quickest people can
afford. For example, people can use the Internet for any
kind of information and knowledge they need such as
gender relations in an country like Iran
without going there physically. Another instance is that a
student living in Amazon jungle can learn how to make
American cupcake at a push of a button on YouTube,
which would save him of dollars without a
need to visit the USA, with it costing US$ 1 for internet
use at cafe.
US$ 1 for internet use at
Options:
1) pizza
2) bakery and
3) internet
4) food and
Correct Answer: internet

cafe.

QID : 76 - Which of the following economic activities
comes under primary sector?

I. Banking

II1. Dairy

III. Transport

Arfaf@d & @ il ¥ e afafafar gafas
& % & AT I 82

I. d% Fard

IL 3%

III. 9RRageT
Options:
1)Only I
Fad 1

2) Only II
Fael II

3) Only III
Fael III

4) Both I & IT
I dr II =t
Correct Answer: Only II

Faer 11
Fae |

QID : 77 - Which of the following sectors is also called a
service sector?

efaf@a & 9 59 &9 # 9ar &89 i g1 Jrar

e?

Options:

1) Primary sector
A & 9%

2) Secondary sector
ACGIRCAEED

3) Tertiary sector
e &

4) Quaternary sector
TJHTIMCHS &1
Correct Answer: Tertiary sector
g &
A 896

QID : 78 - The Panchayati Raj System is divided into
how many levels of governance?

T ST SIa¥dT AR & fohdel TRt H fasmfaia g2
Options:

1)1

2)2

3)3

4)4

Correct Answer: 3

QID : 79 - Name the fundamental right in which
"Freedom of speech" is practised.

"Jffeafda fr Tadaar g Aifos 3RER & AT
37T 872
Options:



1) Right to Equality

AT &7 TSR

2) Right to Freedom

TIAAAT FT ITUHR

3) Cultural and Educational Rights
ARHTaw IR derfO R

4) Rights to constitutional Remedies
gaufas 3TaR #1 ATER
Correct Answer: Right to Freedom
TIAFAT & AR

gaufas 3TaR #1 ATER

QID : 80 - Who was the son of Bindusara?
fdgar &1 g7 @l ar
Options:
1) Ashoka
372l
2) Chandragupta
o k)
3) Bimbisara
IECEIIES
4) Azaat Shatru
CICICENE
Correct Answer: Ashoka

312Nk
TSI 2

QID : 81 - Where did Salt March end?
THEb FAIE Fgl W AT 3T AT?
Options:

1) Dandi

K]

2) Surat

Wd

3) Ahmedabad

I CICICY

4) Sabarmati

HISH

Correct Answer: Dandi

A
A

QID : 82 - Which is the nearest star to Earth?

gedl & Hal foehe il AT dRT &2
Options:

1) Pole star

LEIGIRY

2) Sun

T

a

3) Dog star
T TR
4) Sirius
R

Correct Answer: Sun

T

a

T

N

QID: 83 -
Match the following.

Arafafa & Fea fifam

Drawing / 3IR® Characteristic / faRtwan?
A. Large Scale map 1. Drawing drawn to scale
a3 Yame arem Yot fr wermar & o
ECIEES I
B. Sketch 2. Gives more information
Ty i SEERT vere
FT &
C. Plan 3. Drawing drawn without
QTeRT scale
o S fr wEar @
o= T
Options:

1) B-2, C-3, A-2
2) A-2, B-3,C-1
3) C-2, B-3, A-1
4) C-2, B-1, A-3
Correct Answer: A-2, B-3, C-1

QID : 84 - What is pollination?

TRIETOT AT BT g7

Options:

1) The transfer of pollen grains from an anther to the
stigma of a plant

RIETHRIRIT F dfcaenrdl T AR WRETRUTT T TATATAR 0T
2) The germination of pollen grains
- .Q
3) Visiting of flowers by ants
geat @1 fEat garr o
4) The growth of pollen tube in the ovule
3708I9] #H ORIET el T g
Correct Answer: The transfer of pollen grains from an
anther to the stigma of a plant

RETRRT & dicderd FHI IR REROINT HT TATATTAROT

QID : 85 - Name the blood cell which is found in
abundance in the human body.

IFd FI Fied AT G Fd H 9 3fF AT #F 9=
T 8?7

Options:

1) Red blood cells

ATl I HIRARIT

2) Plasma

CATGHT

3) Blood proteins

&g Gt

4) White blood cells



dd T&d HIfAeT

Correct Answer: Plasma
CATHAT

T TFd RITARIT

QID : 86 - Which part of the plant prepares food?
Gier T leT AT AT ST TANT AT 872
Options:

1) Leaves

afeaar

2) Roots

33

3) Stem

GGl

4) Flowers

%ol

LN

Correct Answer: Leaves
gfeaar
Bl

LN

QID : 87 - Sound is produced by a body only if it

T Tug qaft eafd 3cued AT § ST ag |
Options:

1) made of steel
AT ¥ T &Y

2) made of hollow wood
GrEell ddhsl & a1 @l

3) made of strings

aR & & &

4) vibrating

HFTT T Bl

Correct Answer: vibrating
HFTT T Bl

QID : 88 - What constitutes current in a metal wire?
U1q & dRX # el 1 gare fre & wa 82
Options:

1) Electrons

gelarciel

2) Protons

gicteT

3) Neutrons

=ggle

4) None of these

ST O IS 6T

Correct Answer: Electrons
gelarglel

EEE{C]

QID : 89 - Which of the following is NOT a format of
storing the image in computer?

fArafafed & @ @l a1 Fegex & sfd & GoEla
FeT FT Th IR A6 g7

Options:

1) .bmp

2) .png

3) .jpg
4) All are image formats

gy ofd & IwT §

Correct Answer: All are image formats

Tl ofd & UwT §

QID : 90 - Name the reducing agent used in the
reaction to join railway tracks?

@ﬁQd%ﬁaﬁaﬁﬁé?ﬁvqgﬁTﬁﬁamTﬁ@ﬁmT
#F PIT T ITHRE A grar 87

Options:
1) Aluminum

tgfAfaTH

2) ﬁitrogen

QIEMED)

3) Carbon

FlaeT

4) Carbon dioxide

FIeeT BAHTFASS

Correct Answer: Aluminum

tgfAfaTH

o

QID : 91 - Which is the most abundant element in the
universe?

SEATS # I T dcd Pl AT 82
Options:

1) Gold

e

2) Oxygen

3itrdIoTeT

3) Carbon

CorE

4) Hydrogen

QEEER]

Correct Answer: Hydrogen

QESECH
QESECH

QID : 92 - Which of the following is a part of organic
impurities of sewage?

fFfalf@d & & @it & Helolol T Sifdsh HefeAt

e fgear g2
Options:

1) Phosphate
BIEhT

2) Urea
DES!

a

3) Carbohydrate

EDCIES



4) None of these

S A A FIg e
Correct Answer: Urea
IRAT && Carbohydrate

Fafersge

QID : 93 - Pradhan Mantri Mudra Yojana provides Mudra
loan, upto Rs lakh.

TUTAHAT T ASledl o & b HT HaT ROT
el & gl
Options:

1) 10

[=33)

2)5

qra

3) 20

ST

4) 50

SIEs)

Correct Answer: 10
5330

QID : 94 - Who gave the 'Raman's Effect’?
A eTa foraer e
Options:

1) Galileo Galilei

Freiforar Aforelr

2) C V Raman

T &Y AT

3) Marie Curie

A% 70

4) None of these

ST § FIS G

Correct Answer: CV Raman
T &Y AT

QID : 95 - How many players are there in a basketball
team?

rEhealel A # fohder f@emer g 82

Options:

1)3

AL F

)
4292

Correct Answer: 5

4 3

QID : 96 - Gitanjali' by Rabindranath Tagore is a
collection of

Wiy &t fr Maisfer &1 g3 &
Options:

1) Novels

3Y9ITH

2) Plays

ATCeht

3) Poems

Hiaart

4) Short stories

BIET Fgifaar

Correct Answer: Poems

EOCGIE ]

QID : 97 - Who among the following is NOT a recipient
of 'Bharat Ratna Award'?

fAEfaf@d & @ @l '9Rd T RER' &
gTedehdT SIel 87?

Options:

1) Nelson Mandela

Joded HSAT

2) Rajiv Gandhi

TS amel

3) Sachin Tendulkar

et dgelat

4) Major Dhyan Chand

AR €ATeTdeG

Correct Answer: Major Dhyan Chand
AR &ATeTde,

Joded HSA

QID : 98 - Name the author of the book named 'Neither
a Hawk nor a Dove'"?

fAeX 31 gl AR 31 1@ ATHAG [l & oAGh Hlel §?
Options:

1) Brian May

ST A

2) David J Eicher

3fas & 3R

3) Khurshid Mahmud Kasuri

geffe werg Hd

4) Kapil Ishapuri

el FUTYL

Correct Answer: Khurshid Mahmud Kasuri

geffe #erg Hed

QID : 99 - How many countries of South Asia and South
East Asia are members of BIMSTEC?

faraees gfgror ofar qur gfaor qf ok & frder
ot & AT v 3u-a T FereaT g7

Options:

1)5

qr

2)7

Hid



3) 11

ER IR

4) 15

Ueg

Correct Answer: 7
aqrd

QID : 100 - Which neighbouring country of India has
become the first fully organic country of the world?

HRA &M it AT TSI G20 GAAT T Ygell YT
Frefasd 2O 82

Options:

1) Sri Lanka

Hrerent

2) Bhutan

HCToT

3) Myanmar

FATHAN

4) Maldives

AT

Correct Answer: Bhutan
HCTT

N

FTHAN



